Quadratic Functions: EOC Prep Netris: V\a%r

Spring 2013

Directions: The following questions are sample items similar to those found on the EOC Exam. Answer each to
the best of your ability.

1. The function f(t) = 5t + 20t + 60 models the approximate height of an object
t seconds after it is launched. How many seconds does it take the object to hit the
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3. The larger leg of a right triangle is 3 cm longer than its smaller leg. The
hypotenuse is 6 cm longer than the smaller leg. How many centimeters long is the
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5. Which graph displays the function f(x)=(2x + 3)(x - 2)?
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6. The floor of a rectangular cage has a length 4 feet greater than its width, w. James
will increase both dimensions of the floor by 2 feet, Which equation represents the

new area, N, of the floor of the cage?
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7. Which expression is equivalent to t* - 362
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8.  Which is the graph of the function f(x) = 4x* - 8x + 7?
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9. Suppose that the equation V = 20.8x* - . 458.3x + 3,500 represents the value
of a car from 1964 to 2002. What year d|d the car have the least value?
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10. The number of bacteria in a culture can be modeled by the function
N(t) = 28t° - 30t + 160, where ¢t is the temperature, in degrees Celsius, the
culture is being kept. A scientist wants to have fewer than 200 bacteria in a
culture in order to test a medicine effectively. What is the approximate domain of
temperatures that will keep the number of bacteria under 200?
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12. The sum of two numbers is 24. The sum of the squares of the two numbers is 306.
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13.  The heights of two different projectiles after th'e'\;l;;axre"llaunc'hed are modeled by f(x)
and g(x). The function f(x) is defined as f(x) ="16x> + 42x + 12. The table
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projectiles? A T
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. The length of a rectangle is 3 inches more than its width. The area of (WaYw) = 1O
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What are the roots of the equation x2 — 5x + 6 = 0P (%~ ZI 1 S 3) =0
(1) Land —6 (3) —land6 X-2=0 X- 2 =0
@ 2and3 (4) —2and —3 e 2 X3

Which expression is equivalent to 64 — x??
(1) (8 —x)(8 —x) (3) (x — 8)(x — 8)
@ (8—x)8+x) (4) (x — 8)x + 8)

D\-eeerence. ca Soruaw.s
x’—LAL = (%~ bex ¥ L{)

The equation of the axis of symmetry of the graph of y = 2x® — 3x + 7
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